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Tnpsc group I / ii preliminary  
SOCRATES BATCH - WEEKly TEST 3 OF February, 24 

 

1. Consider statements and choose correct option. 
I. B.N. Rau was appointed as advisor to constituent assembly. 
II. 64 lakhs was spent to frame constitution. 
III. Constitution making was spread over period of 2 year, 11 month and 

18 days. 
IV. Original constitution are preserved in Helium cases in library of 

Parliament of India. 
V. Original constitution had 395 articles in 22 parts and 8 schedules. 
a. I only   b. I, II and III only  c. I and II only  
d. All the above  e. Answer not known 
fPo;f;nfhLf;;fg;gl;l tptuq;fspy; cz;ikahd jfty;fis fz;lwpe;J 
Fwpg;gplTk;.  
I. B.N. uht; rl;lkd;w MNyhrfuhf epaf;fg;gl;Ls;shh;. 
II. murpay; eph;zar;rl;k; cUthf;f 64 yl;rk; nrythdJ 
III. murpay; eph;zr; rl;lk; cUthf;f vLj;Jf; nfhz;lfhyk; 2 tUlk; 11 

khjk;     18 ehs;  
IV. %yg;gpujp (murpay; mikg;Gr; rl;lk;) `Pypak; ngl;bapy; itj;J> 

ehlhSkd;w E}yfj;jpy; ghJfhf;fg;gLfpwJ. 
V. %yg; gpujpapy; murpay; eph;zar; rl;lj;jpy; 395 gphpT 22 gFjpfs; 8 

cggphpT ,Ue;jd.  
a. I kl;Lk;   b. I, II kw;Wk; III   c. I kw;Wk; II 
d. midj;jk; rhp   e. tpil njhpatpy;iy 

 

2. Consider the following statement on the Constituent Assembly 
1. The constituent assembly was set up under the Cabinet Mission Plan 

1946 
2. The assembly consisted of 292 members representing the British 

Province, 93 from Princely states and 4 from the Chief Commissioner 
Province. 

3. The assembly held its first meeting on December 6, 1946 
4. The assembly met for 21 sessions along with 161 days of meeting 
Which among the following statement is/are wrongly listed? 
a. 3 only   b. 2 and 3 only  c. 1 and 2 only  
d. 3 and 4 only  e. Answer not known 
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murpayikg;G eph;zarig Fwpj;j $w;Wfis Ma;f 
1. Nfgpdl; kp~d; jpl;lk; 1946-d; gb> murpayikg;G eph;zarig 

cUthf;fg;gl;lJ. 
2. murpayikg;G eph;zarig vd;gJ 292 gphpl;b~; khfhz cWg;gpdh;fs;> 93 

RNjr muRfs; kw;Wk; 4 Kjd;ik khfhz cWg;gpdh;fs;. 
3. rigapd; Kjy; $l;lk; brk;gh; 6> 1946y; eilngw;wJ. 
4. rig $l;lk; 161 ehl;fs; 21 mkh;TfSld; eilngw;wJ. 
jtwhd $w;Wfis fz;lwpf 
a. 3 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 2 kl;Lk; 
d. 3 kw;Wk;  4 kl;Lk;  e. tpil njhpatpy;iy 
 

3. Match following thoughts on state  
A. Garner    1. People organised for law within a territory  
B. Laski  2. Community of people in definite territory free 

of external control and possessing an organised    
government to which people show obedience  

C. Woodrow Wilson  3. Territorial society divided into government and  
subjects whose relationship are determined by 
exercise of supreme coercive power 

muR gw;wpa tiuaiwfis nghUj;Jf:  
A. fhh;dh; 1. Xh; Fwpg;gpl;l vy;iyf;Fs; rl;lj;jpd; khl;rpikapd; fPo; 

xOq;fikf;fg;gl;l kf;fisf; nfhz;l mikg;ghFk;  
B. yh];fp 2. xh; kf;fs; $l;lkhdJ tiuaWf;fg;gl;l  epyg;gug;gpy; 

trpj;Jf;nfhz;L> mth;fs; ntsprf;jpfSf;F fl;Lg;glhky; 
xU Kiwahd murhq;fj;ijg;ngw;W jq;fSf;Fs; Vw;gl;l 
,ay;ghd fPo;gbjiy murpw;F nrYj;Jjy;.  

C. cl;Nuhtpy;rd; 3. muR vd;gJ Xh; epyg;gug;gpy; mike;j rKjhakhFk;. 
mJ murhq;fk; kw;Wk; Fbkf;fs; vd gphpf;fg;gl;Ls;sJ. 
,tw;wpw;fpilNaahd cwTfs; Nkd;ikahd mjpfhuj;ij 
tYfhl;lhakhf gad;gLj;Jtjd; %ykhf 
jPh;khdpf;fg;gLfpwJ. 

A B C  
a. 1 2 3 
b. 3 2 1  
c. 2 3 1  
d.  3 1 2  e. tpil njhpatpy;iy 

  

4. Introduction of provincial Autonomy is related to which of the following 
acts? 
a. The Government of India Act, 1858 
b. The Government of India Act, 1909 
c. The Government of India Act, 1919 
d. The Government of India Act, 1935 
e. Answer not known 
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khfhz Rahl;rpapd; mwpKfk; gpd;tUk; ve;jr; nraYld; njhlu;GilaJ? 
a. ,e;jpa muR rl;lk;> 1858  b. ,e;jpa muR rl;lk;> 1909 
c. ,e;jpa muR rl;lk;> 1919  d. ,e;jpa muR rl;lk;> 1935 
e. gjpy; njupatpy;iy 
 

5. Who gave the concept of Welfare State? 
a. Rousseau    b. Voltaire    c. Bismarck 
d. Karl Marx   e. Answer not known 
‘ey muR’ vd;w fUj;jhf;fj;ij toq;fpath; ahh;? 
a. &Nrh    b. thy;ilh;   c. gp];khh;f; 
d. fhh;y; khh;f;];  e. tpil njhpatpy;iy 
 

6. Choose the correct statement about Nobel Prize in Economics 

i. Nobel Prize in Economics (2023) has been awarded to Claudia Goldin 
for advancing understanding of women’s labour market outcomes. 

ii. Amartya Sen got Nobel Memorial Prize in Economic Sciences (1998) 
for work contributions to welfare economics 

iii. Abhijit Banerjee got Nobel Memorial Prize in Economic Sciences 
(2019) for experimental approach to alleviating global poverty. 

a. i, ii    b. ii, iii    c. i, iii   
d. i, ii, iii   d. Answer not known  
nghUshjhuj;jpw;fhd Nehgy; gupR gw;wpa rupahd $w;Wfis Nju;f 
i. nghUshjhuj;jpw;fhd Nehgy; gupR (2023) ngz;fspd; njhopyhsu; 

re;ij tpisTfisg; Gupe;Jnfhs;s gq;fspj;j fpshbah 
Nfhy;bDf;F toq;fg;gl;Ls;sJ. 

ii. mku;j;jpah nrd; nghUshjhu mwptpaYf;fhd Nehgy; epidT 
guprpid (1998) nghJey nghUshjhuj;jpw;fhd gq;fspg;GfSf;fhf 
ngw;whu; 

iii. mgp[pj; ghdu;[pf;F cyfshtpa tWikia xopg;gjw;fhd Nrhjid 
mZFKiwf;fhf nghUshjhu mwptpaYf;fhd Nehgy; epidT gupR 
(2019) fpilj;jJ. 

a. i, ii    b. ii, iii    c. i, iii 
d. i, ii, iii   e. tpil njhpatpy;iy 

 
7. Mohammed sells a shirt costing Rs. 300 at 20 % loss to Salim. Salim sells it 

at a profit of 10%. At what price did Salim sell the shirt? 
a. Rs. 264 b. Rs. 270  c. Rs. 280  d. Rs. 330 e. Answer not known 
KfkJ &.300 mlf;ftpiy nfhz;l rl;ilia 20% e~;lj;jpw;F ryPkpw;F 
tpw;whh;. ryPk; mij 10% yhgj;jpw;F tpw;why;> ryPk; vd;d tpiyf;F 
rl;ilia tpw;whh;? 
a. Rs. 264 b. Rs. 270   c. Rs. 280  d. Rs. 330 e. tpil njhpatpy;iy 
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8. Match the following with correct options.  
A Chairman of drafting committee  1. T . T  Krishnamachari 
B. President of constituent assembly  2. Prem Behari Narain Raizada  
C. Vice-president of assembly   3. Dr. B.R. Ambedkar  
D. Calligrapher      4. Dr. Rajendra Prasad  
nghUj;Jf: 
A. tiuTf; fkpl;bapd; jiyth;  1. T.T fpU~;zkhr;rhup 
B. murpay; mikg;G mitj; jiyth; 2. gpNuk; ng`hp ehuhaz nua;rhlh  
C. mitapd; Jizj; jiyth;  3. Dr. B.R. mk;Ngj;fhh;  
D. tbtikg;ghsh; (murpayikg;G  
  rl;lj;ij vOjpath;)     4. Dr. uhN[e;jpu gpurhj;  
 A B C D 
a. 1 3 4 2 
b. 3 4 2 1  
c. 3 2 4 1  
d. 3 4 1 2   e. tpil njhpatpy;iy 
 

9. Who among the following headed the order of Business Committee? 

a. J.B. Kripalani  b. Sardar Patel  c. B. Pattabi Sittaramayy 

d. K.M. Munshi  e. Answer not known 
ahUila jiyikapy; mYty; FO mikf;fg;gl;lJ? 

a. n[.gp. fpUghsdp b. rh;jhh; gNly;  c. gp.gl;lhgp rPjhuhika;a 

d. Nf.vk;. Kd;~p   e. tpil njhpatpy;iy 
 

10. Which animal as said by Valluvar, to be lifeless if the hair is removed from 
his body? 
a. Pulliman  b. Kalaimaan   c. Kavarimaan 
d. Kadamaan  e. Answer not known 
jd; clk;gpypUe;J kaph; ePq;fpdhy; caph; thohJ vd;w ts;Sth; $Wk; 
tpyq;F vJ? 
a. Gs;spkhd;  b. fiykhd;   c. fthpkhd; 
d. flkhd;  d. tpil njhpatpy;iy 
 

11. The concept of 'Judicial Review' was borrowed from  
a. UK Constitution     b. USA Constitution 
c. Weimer Constitution of Germany d. Canadian Constitution 
e. Answer not known 
"ePjp Gzuha;T" fUj;JU ________ murpayikg;gpypUe;J ngwg;gl;lJ. 
a. ,q;fpyhe;J murpayikg;G   b. mnkhpf;f murpayikg;G  
c. nta;kh; n[h;kdp murpayikg;G  d. fdlh murpayikg;G  
e. tpil njhpatpy;iy 
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12. Consider the following pairs: 
Personality    Position in the constituent assembly 
1. Dr. Sachidanand Sinha -  President 
2. B.N. Rau    -  Constitutional advisor 
3. H.C. Mukherjee   -  Vice president 
4. Dr.B.R. Ambedkar  -  Drafting committee chairman 
Which of the above pairs is/are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
gpd;tUk; ,izfis Ma;f. 
egh;     murikg;G eph;za rigapy; jFjp 
1. Dr. rr;rpjhde;j rpd;fh - jiyth; 
2. B.N. uht;     - murpayikg;G MNyhrfh; 
3. H.C. Kfh;[p   -  Jizj; jiyth; 
4. Dr. B.R. mk;Ngj;fh;  - rl;l tiuTf; FO jiyth; 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;  b. ,U ,izfs; kl;Lk; 
c.%d;W ,izfs; kl;Lk; d. midj;J ,izfSk; 
e. tpil njhpatpy;iy 
 

13. Who is appointed as a Election Commission’s National Icon? 
a. Rajiv Kumar  b. Rajkummar Rao  c. Rajiv Shukla  
d. Rajivmenon  e. Answer not known 
Nju;jy; Mizaj;jpd; Njrpa milahskhf epakpf;fg;gl;Ls;sth; ahh;? 
a. uh[pt;Fkhh;   b. ,uh[;Fkhh; uht;  c. ,uh[pt; Rf;yh 
d. ,uh[pt;Nkdd;  e. tpil njhpatpy;iy 

 

14. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He 
then sells it after allowing a discount of 20%. Find the profit percent.  
a. 5%  b. 4 ½ % c. 4%  d. 6% e. Answer not known 
xU tpahghhp xU nghUis &.1>200 thq;fpdhh;. gpd;G mjd; mlf;ftpiyf;F 
Nky; 30% Fwpj;j tpiyf;F 20% js;Sgb  nfhLf;fpwhh;. tpw;w tpiyapd; 
yhg % vd;d? 
a. 5%  b. 4 ½ % c. 4%  d. 6% e. tpil njhpatpy;iy 

 

15. When did the constituent assembly is assembled after partition of Pakistan, 
as the constituent assembly for the remaining India? 
a. 14 August, 1947  b. 29 August, 1947  c. 26 August, 1947 
d. 9 December, 1946 e. Answer not known 
ghfp];jhd; gphptpidf;Fg; gpd;dh; kPjKs;s ,e;jpahtpw;fhd murpayikg;G 
eph;za rig $ba ehs;? 
a. 14 Mf];l; 1947  b. 29 Mf];l; 1947  c. 26 Mf];l; 1947 
d. 9 brk;gh; 1946  e. tpil njhpatpy;iy 
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16. Consider the following statements with regard to the functions performed 
by the constituent assembly 
I. It adopted the National Flag on January 24, 1950 
II. It adopted the National Anthem on January 24, 1950 
III. It adopted the National Song on January 24, 1950 
IV. On 24th January, 1950 the Constituent Assembly held its final session 
Of them 
a. I is true  b. II and III are false  c. I and IV are false  
d. II, III and IV are true  e. Answer not known 
murpayikg;G eph;za rigapd; gzpfs; njhlh;ghd $w;Wfis Ma;f 
I. [dthp 24> 1950,y; Njrpa nfhbia Vw;Wf;nfhz;lJ 
II. [dthp 24> 1950,y; Njrpa fPjj;ij Vw;Wf;nfhz;lJ. 
III. [dthp 24> 1950,y; Njrpa ghliy Vw;Wf;nfhz;lJ. 
IV. [dthp 24> 1950,y; murpay; eph;za rig mjd; ,Wjp $l;lj;ij 

elj;jpaJ. 
a. I rhp    b. II kw;Wk; III jtW  c. I kw;Wk; IV jtW  
d. II, III, IV rhp  e. tpilnjhpatpy;iy 

 

17. Match the following:  
A. Pitt’s India Act, 1784   1. Decentralization of the Legislative 
       powers of  Governor General  
B. Charter Act, 1813   2. Governor–General’s Government was   

known as Government of India for the first  
time  

C. Charter Act, 1833  3. Appointment of Board of control of six  
members  

D. Indian councils Act, 1861  4. Deprivation of East India company’s 
       monopoly of trade in India  
fPo;f;fz;ltw;iwg; nghUj;Jf:  
A. gpl; ,e;jpar; rl;;lk;> 1784  1. fth;dh; - n[duypd; rl;lkpaw;Wk; 
       mjpfhuq;fis mjpfhug; gutyhf;fk; 
       nra;jy; 
B. rhrdr; rl;lk;> 1813 2. Kjd; Kiwahf fth;dh; - n[duypd;   

murhq;fk; ‘,e;jpa murhq;fk;’ vd 
miof;fg;gl;lJ  

C. rhrdr; rl;lk;> 1833  3. MW cWg;gpdh;fisf; nfhz;l 
       fl;Lg;ghl;L thhpak; epakpf;fg;gLjy;   
D.,e;jpaf; fTd;rpy; rl;lk;> 1861 4. ,e;jpahtpy; fpof;fpe;jpaf; 
        fk;ngdpapd; th;j;jf Kw;Whpikiaf; 
        Fiwj;jy;  
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A B C D 
a.  1 2 3 4 
b. 3 4 2 1  
c. 4 3 2 1  
d. 1 3 2 4  e. tpil njhpatpy;iy  
 

18. Which among the following are considered as federal features of 
government in Indian constitution? 
1. Written constitution   2. Division of powers 
3. Integrated judiciary   4. Bicameralism 
5. Unequal representation of states 6. Supremacy of constitution 
a. 1, 2, 3 and 4 only b. 1, 2, 3, 4, 5 and 6 only c. 1, 2, 3, 4, and 6 only 
d. 1, 2, 4 and 6 only e. Answer not known 
gpd;tUtdtw;wpy; vit ,e;jpa murpayikg;gpd; $l;lhl;rp ,ay;Gfshf 
fUjg;gLfpd;wd? 
1. vOjg;gl;l murpayikg;G    2. mjpfhug; gq;fPL 
3. xUq;fpize;j ePjpj;Jiw    4. <uit rl;lkd;w Kiw 
5. khepyq;fspd; rkepiyaw;w gpujpepjpj;Jtk;. 
6. murpayikg;gpd; Nkyhd jd;ik 
a. 1> 2> 3 kw;Wk; 4 kl;Lk;  b. 1> 2> 3> 4> 5 kw;Wk; 6 
c. 1> 2> 3> 4 kw;Wk; 6 kl;Lk;  d. 1> 2> 4 kw;Wk; 6 kl;Lk; 
e. tpil njhpatpy;iy 
 

19. Which of the following statements about salient feature of the Indian 
Constitution is TRUE? 
I. It has Universal Adult Franchise. 
II. It provides Double Citizenship 
III. It provides social equality 
IV. It is more rigid than flexible. 
a. I and IV   b. II and III    c. I and III   
d. II and IV   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s thf;fpaq;fspy; ,e;jpa murpayikg;gpd; rpwg;G 
mk;rq;fspy; rhpahdit vit? 
I. taJ te;Njhh; thf;Fhpikia nfhz;Ls;sJ. 
II. ,ul;il FbAhpikia mspf;fpwJ 
III. r%f rkj;Jtj;ij mspf;fpwJ 
IV. nefpOk; jd;ikiatpl mjpfkhd fbdj;jd;ikia nfhz;Ls;sJ 
a. I kw;Wk; IV  b. II kw;Wk; III   c. I kw;Wk; III 
d. II kw;Wk; IV  e. tpil njhpatpy;iy 
 

20. What does Valluvar say one needs in a time of increasing wealth? 
a. Humility  b. Courage    c. Growth 
d. Hauteur   d. Answer not known 
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nry;tk; ngUfpAs;s fhyj;jpy; xUtDf;F vJ Ntz;Lk; vd;W jpUts;Sth; 
$Wfpwhh;? 
a. gzpT  b. JzpT     c. cah;T 
d. nrUf;F  d. tpil njhpatpy;iy 

 
21. A man buys 10 articles for Rs. 8 and sells them at the rate Rs. 1.25 per 

article. His gain is  
a. 20%  b. 50% c. 19 ½% d. 56 ¼%  e. Answer not known 
xU kdpjd; 10 Gjpdq;fs; & 8 f;F thq;fp mtw;iw &. 1.25 tPjk; 10 
Gjpdq;fis tpw;whh;. mtUila yhgk; 
a. 20%  b. 50% c. 19 ½% d. 56 ¼%  e. tpil njhpatpy;iy 

 
22. Who is the author of “Sivappu Kazhuthudan Oru Patchaiparavai”? 

a. Lakshmi  b. Jayamohan   c. Rajanarayanan 
d. Imayam  e. Answer not known 
rptg;G fOj;Jld; xU gr;irg;gwit vd;w ehtypd; Mrphpah; ahh;? 
a. yÑ;kp  b. n[aNkhfd;   c. ,uh[ehuhazd; 
d. ,kak;  e. tpil njhpatpy;iy 
 

23. Consider the following pairs: 
Constitutional provision source 
1. DPSP    - Irish 
2. Rule of law   - Britain 
3. Justice    - French 
4. Amendment procedure - Australia 
Which of the above pairs are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
gpd;tUk; ,izfis Ma;f. 
murikg;G tpjp    %yk; 
1. topfhl;L newpKiwfs; - mah;yhe;J 
2. rl;lj;jpd; Ml;rp   - gphpl;ld; 
3. ePjp     - gpuQ;R 
4. murikg;G jpUj;j Kiw - M];jpNuypah 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;  b. ,U ,izfs; kl;Lk; 
c. %d;W ,izfs; kl;Lk; d. midj;J ,izfSk; 
e. tpil njhpatpy;iy 
 

24. Which part of the Indian constitution and articles deals with elections? 
a. Part IX, Articles 326 – 328  b. Part XV, Articles 324- 329 
c. Part X, Articles 326- 329  d. Part V, Articles 325- 328 
e. Answer not known 
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,e;jpa murpayikg;gpd; ve;j gFjp kw;Wk; cWg;Gfs; Njh;jy; gw;wpajhFk; 
a. gFjp IX, cWg;Gfs;  326 – 328 b. gFjp XV, cWg;Gfs;  324- 329 
c. gFjp X, cWg;Gfs;  326- 329  d. gFjp V, cWg;Gfs; 325- 328 
e. tpil njhpatpy;iy 
 

25. Match the following 
List I (Schedule)  List II (Content) 
A. Second Schedule 1. Division of Powers 
B. Third Schedule  2. Forms of Oaths 
C. Fourth Schedule 3. Provision on emoluments, allowances, privileges  
D. Seventh Schedule 4. Seats in the Rajya Sabha 
nghUj;Jf 
gl;bay; I (ml;ltiz)  gl;bay; II (mlf;fk;) 
A. ,uz;lhtJ ml;ltiz 1. mjpfhug; gfph;T 
B. %d;whtJ ml;ltiz  2. cWjpnkhopfspd; tbtq;fs; 
C. ehd;fhtJ ml;ltiz 3. Cjpak; toq;Fjy;> nfhLg;gdTfs;> 

       rYiffs; 
D. VohtJ ml;ltiz    4. khepyq;fsitapy; cs;s ,lq;fs; 

A B C D 
a. 3 2 1 4 
b. 3 1 2 4 
c. 3 2 4 1 
d. 3 4 2 1  e. tpil njhpatpy;iy 
 

26. Which part of the Indian constitution has provisions for the government to 
make laws to address many problems prevalent in the Indian society? 
a. Part III   b. Part IV   c. Part XIV 
d. Part XI   e. Answer not known 
,e;jpa r%fj;jpy; epyTk; gy gpur;ridfSf;F jPh;T fhz;gjw;F murhq;fk; 
rl;lq;fis ,aw;Wtjw;fhd Vw;ghLfs; ,e;jpa murpayikg;gpd; ve;jg; 
gFjpapy; cs;sJ. 
a. gFjp III   b. gFjp IV   c. gFjp XIV 
d. gFjp XI   e. tpil njhpatpy;iy 
 

27. Who said, “The Constitution of India was framed by ransacking all other 
Constitutions”? 
a. Pandit Jawaharlal Nehru  b. Periyar E.V. Ramasamy 
c. Dr. B.R. Ambedkar   d. Ivor Jennings 
“,e;jpa murikg;G rl;lkhdJ gpw murikg;G rl;lq;fspy; ,Ue;J #iwahb 
nra;ag;gl;lJ” vd $wpath; ahh;? 
a. gz;bl; [t`h;yhy; NeU  b. nghpahh; <.nt.uhkrhkp 
c. Dr. B.R. mk;Ngj;fh;   d. INthh; [d;dpq;]; 
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28. A loss of 4% was suffered by selling a plot for Rs.1560. The cost of the plot? 
a. Rs.1625       b. Rs.1265  c. Rs.1525  d. Rs.1575  e. Answer not known 
xUth; xU kidia &.1560 f;F tpw;Fk; NghJ 4% rjtPjk; e~;lkilfpwhh; 
vdpy; mk;kidapd; mlf;ftpiy ahJ?  
a. Rs.1625    b. Rs.1265  c. Rs.1525  d. Rs.1575  e. tpil njhpatpy;iy 
 

29. Choose the correct statement about “Saraswati Samman” 
1. Siva Sankari was honoured with the prestigious ‘Saraswati Samman’ 

2022 for her memoirs “Surya Vamsam” 
2. Saraswati Samman Award presented by TATA group 
a. i only   b. ii only    c. both i, ii are correct 
d. None of these  e. Answer not known 
ru];tjp rk;khd; tpUJfs; Fwpj;j rhpahd $w;Wfis Njh;f 
1. rptrq;fup mtu;fspd; epidTf; Fwpg;Gfshd “R+u;a tk;rj;jpw;F” 2022 Mk; 

Mz;Lf;fhd kjpg;Gkpf;f ‘ru];tjp rk;kd;’ tpUJ toq;fg;gl;lJ. 
2. ru];tjp rk;khd; tpUjpid toq;FtJ lhlh FOkj;jpdh; 
a. i kl;Lk;   b. ii kl;Lk;    c. i, ii rhp 
d. ,it VJkpy;iy e. tpil njhpatpy;iy 

 

30. Consider the following statements relating to the sources of the 
constitution. 
I. Provision relating to the Election of members to Rajya Sabha was 

borrowed from the South African constitution. 
II. Provision relating to the concurrent list was borrowed from the 

Australian constitution 
III. Provisions relating to the concept of ideals of Justice was borrowed 

from the French Constitution 
IV. Provision related to the Suspension of Fundamental Rights during 

emergency was borrowed from the German Constitution  
a. I, II and IV is true b. II and IV is true c. I and III is true 
d. I alone is true  e. Answer not known 
murikg;G %yq;fs; njhlh;ghd gpd;tUk; $w;Wfis Ma;f 
I. khepyq;fsit cWg;gpdh;fs; Njh;T njhlh;ghd murikg;G $Wfs; 

njd;dhg;gphpf;f murpayikg;gpypUe;J ngwg;gl;lJ. 
II. nghJg;gl;bay; njhlh;ghd murikg;G $Wfs; M];jpNuypa 

murpayikg;gpypUe;J ngwg;gl;lJ. 
III. ePjpapd; khz;Gfs; njhlh;ghd murikg;G $Wfs; gpuhd;R 

murpayikg;gpypUe;J ngwg;gl;lJ. 
IV. mtru fhyq;fspd;NghJ mbg;gil chpikfs; uj;J nra;jy; 

njhlh;ghd $Wfs; n[h;kd; murpayikg;gpypUe;J ngwg;gl;lJ. 
a. I, II kw;Wk; IV rhp b. II kw;Wk; IV rhp c. I kw;Wk; III rhp  
d. I kl;Lk; rhp   e. tpilnjhpatpy;iy 
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31. “For one, his greatness is in his character’ – Find out the Kural which 
conveys the above meaning 
a. All men that live are one in circumstances of birth; 

Diversities of works give each his special worth. 
b. The men of lofty line, whose souls are mean, are never great 

The men of lowly birth, when high of soul, are not of low estate. 
c. Like single-hearted women, greatness too, 

Exists while to itself is true. 
d. The man endowed with greatness true, 

Rare deeds in perfect wise will do. 
e. Answer not known 
xUtUf;Fg; ngUik Fzj;jhy; tUk; - ,jw;F nghUj;jkhd Fwis 
Njh;e;njLf;f. 
a. gpwg;nghf;Fk; vy;yh caph;f;Fk; rpwg;nght;th 

nra;njhopy; Ntw;Wik ahd; 
b. NkypUe;Jk; Nkyy;yhh; Nkyy;yh; fPopUe;Jk; 

fPoy;yhh; fPoy; yth; 
c. xUik kfspNu Nghyg; ngUikAk; 

jd;idj;jhd; nfhz;nlhOfpd; cz;L 
d. ngUik Ailath; Mw;Wthh; Mw;wpd;  

mUik cila nray; 
e. tpil njhpatpy;iy 
 

32. Who told “Political Democracy cannot last unless there lies at the base of it 
Social Democracy”? 
a. Jawaharlal Nehru  b. Mahatma Gandhi 
c. B.R. Ambedkar   d. Supreme Court of India 
e. Answer not known 
“r%f [dehaf mbg;gilapy; cUthfhj murpay; [dehafk; 
epiyj;jpUf;f KbahJ” vd;gJ ahUila $w;W? 
a. [t`h;yhy; NeU  b. kfhj;kh fhe;jp  c. B.R. mk;Ngj;fh; 
d. ,e;jpa cr;rePjpkd;wk;  e. tpil njhpatpy;iy 
 

33. Match the following  
        List-I   List-II 
A. Tenth Schedule  1. Languages 
B. Eighth schedule  2. Provisions as to disqualification of defection 
C. First Schedule  3. Validation of certain Acts and Regulations  
D. Ninth Schedule  4.  The state  
nghUj;Jf. 
gl;bay; - I    gl;bay; - II 
 



 

12 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

A. gj;jhtJ ml;ltiz  1. nkhopfs; 
B. vl;lhtJ ml;ltiz  2. flik jtwpdhy; jFjp ePf;fk; njhlu;ghd 
       tpjpfs; 
C. Kjy; ml;ltiz  3. rpy rl;lq;fs; kw;Wk; xOq;FKiwfis 
       mq;fPfupj;jy; 
D. xd;gjhtJ ml;ltiz 4. khepy muR 
 A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 4 1 2 3 
d. 2 3 4 1  e. tpil njhpatpy;iy 
 

34. Who Stated, “Indian Constitution is first and foremost a social document? 
a. Granville Austin  b. Pylee   c. Motilal Nehru  
d. None of the above  e. Answer not known 
“,e;jpa murpayikg;G> Kjy; kw;Wk; Kjd;ikahf> xU r%f MtzkhFk;” 
vdf; $wpath; ahh;? 
a. fpud;tpy; M];bd;  b. igyp   c. Nkhjpyhy; NeU  
d. Nkw;fz;l VJkpy;iy  e. tpil njhpatpy;iy  
 

35. Find the single discount equivalent to a Successive discount of 30%, 20% 
and 10%. 
a. 32.6%  b. 49.6%  c. 50.4% d. 35% e. Answer not known 
30%, 20% kw;Wk; 10% vd;w mstpy; gbg;gbahd js;Sgbf;F ,izahd 
xw;iwj; js;Sgbiaf; fz;Lgpbf;fTk;.  
a. 32.6%  b. 49.6%  c. 50.4% d. 35% e. tpil njhpatpy;iy 

 

36. Which is the correct statement?  
I. Indian Constitution is a written is a written one  
II. Indian Constitution consists of features of both flexibility and rigidity  
III. Indian Constitution established a secular state  
IV. Indian Constitution is against the federal system of government  
a. I only correct   b. II only correct  c. I, II and IV only correct   
d. I, II and III only correct  e. Answer not known 
rhpahd tpiliaj; Njh;e;njL: 
I. ,e;jpa murpayikg;G xU vOjg;gl;l murpayikg;G  
II. ,e;jpa murpayikg;G nefpOk; kw;Wk; nefpoh ,ay;GilaJ 
III. ,e;jpa murpayikg;G kjrhh;gw;w ehl;bid Vw;gLj;jpAs;sJ 
IV. ,e;jpa murpayikg;G $l;lhl;rp Kiw muRf;F vjpuhdJ 
a. I kl;Lk; rhp   b. II kl;Lk; rhp  
c. I, II kw;Wk; IV kl;Lk; rhp d. I, II kw;Wk; III kl;Lk; rhp 
e. tpil njhpatpy;iy 
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37. Which agency developed Vikram – 1 Rocket? 
a. Agnikul Cosmos b. Skyroot Aerospace  c. Dhruva Space  
d. Bevatrix Aerospace e. Answer not known  
tpf;uk; - 1 uhf;nfl;il cUthf;fpa epWtdk; vJ? 
a. mf;dpFy; fh];kh]; b. ];if&l; VNuh];Ng];  c. JUth ];Ng]; 
d. ngthl;hpf;]; VNuh];Ng]; e. tpil njhpatpy;iy 

 
38. “It Resembles the Declaration of independence of the United States of 

America, but is more than a declaration. It is the soul of our Constitution 
….”  This Statement is attributed to  
a. Fundamental Duties  b. Fundamental Rights  c. Preamble 
d. DPSP    e. Answer not known 
“,J mnkhpf;fhtpd; Rje;jpug; gpufldj;ij xj;jpUf;fpwJ> Mdhy; 
mnkhpf;fhtpd; gpufldj;ij tpl Nkk;gl;lJ> ,J murpayikg;gpd; Md;kh” 
Nkw;$wpa thf;fpak; vjDld; njhlh;GilaJ? 
a. mbg;gil flikfs; b. mbg;gil chpikfs;  c. KfTiu  
d. muR newpKiwf; Nfhl;ghLfs;  e. tpil njhpatpy;iy 
 

39. ______ is absence of conceit; meanness, we deem, 
Riding on car of vanity _______ 
a. Greatness, Supreme b. Greatness, Meanness c. Meanness, Greatness 
d. Meanness, Meanness  e. Answer not known 
ngUik _______ ,d;ik rpWik 
_____ Ch;e;J tply; 
a. ngUkpjk;> ngUkpjk; b. ngUkpjk;> rpWkpjk;  c. rpWkpjk;> ngUkpjk;  
d. rpWkpjk;> rpWkpjk; e. tpil njhpatpy;iy 
 

40. Consider the following statement and choose correct option. 
Assertion (A): India has a rigid constitution  
Reasoning (R): Article 368 provides for amendment by special majority 

    and some provision can be amended by simple majority 
a. Both A and R are true and R is correct explanation. 
b. Both A and R are true and R is not explanation. 
c. A is true R is false 
d. A is false R is true 
e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdijj; Njh;e;njL: 
$w;W (A): ,e;jpah nefpoh murpayikg;igf; nfhz;Ls;sJ 
fhuzk; (R): ruj;J 368 MdJ jpUj;jq;fSf;fhd rpwg;G ngUk;ghd;ik 

    (k) rpy tiffisj; jpUj;Jk; vspa ngUk;ghd;ik 
    eilKiwfisf; Fwpg;gpLfpwJ.  
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a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ rhpahd tpsf;fkhFk;  
b. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ rhpahd tpsf;fky;y  
c. (A) rhp (R) jtwhdJ 
d. (A) jtW> (R) rhpahdJ  
e. tpil njhpatpy;iy 

   
41. Which of the following statement is/are correct regarding the concept of 

Socialism as mentioned in the preamble? 
I. The term Socialism was added by the 42nd Amendment in 1976 
II. Indian Brand of Socialism is “Democratic Socialism” also known as 

State Socialism. 
III. Democratic Socialism involves the nationalization of all means of 

production and distribution / abolition of Private property. 
IV. Democratic socialism aims to end poverty, ignorance, disease and 

inequality. 
Select the correct answer using the codes below: 
a. I, II and III   b. I and IV   c. I, II and IV   
d. I and II   e. Answer not known 
KfTiuapy; Fwpg;gplg;gl;Ls;s Nrhryprk; Fwpj;j thf;fpaq;fspy; vJ/vit 
rhp? 
I. Nrhryprk; vd;w thh;j;ij 42tJ rl;ljpUj;jk; 1976y; Nrh;f;fg;gl;lJ.  
II. ,e;jpa tif Nrhryprk; vd;gJ ‘[dehaf Nrhryprk;’. ,J muR 

Nrhryprk; vdTk; mwpag;gLfpwJ. 
III. [dehaf Nrhryprk; vd;gJ cw;gj;jp kw;Wk; gfph;T midj;ijAk; 

Njrpakakhf;Fjy; kw;Wk; jdpahh; nrhj;Jf;fis mopj;jy;. 
IV. [dehaf Nrhryprk; Fwpf;Nfhs; tWik> mwpahik> Neha;> 

rkj;Jtkpd;ik ,tw;iw KbTf;Ff; nfhz;LtUtJ. 
,tw;wpy; rhpahdtw;iwj; Njh;e;njL 
a. I, II kw;Wk; III  b. I kw;Wk; IV  c. I, II kw;Wk; IV   
d. I kw;Wk; II   e. tpil njhpatpy;iy 

 
42. The cost price of 16 boxes of strawberries is equal to the selling price of 20 

boxes of strawberries. Find the gain or loss percentage. 
a. 20% loss  b. 20% Gain   c. 10% gain 
d. 10% loss   e. Answer not known 
16 ];l;uhnghp (Strawberry) ngl;bfspd; mlf;f tpiyahdJ 20 ];l;uhnghp 
ngl;bfspd; tpw;gid tpiyf;Fr; rkk; vdpy;> ,yhgk; (m) el;lr; rjtPjk; 
fhz;f.  
a. 20% loss  b. 20% Gain      c. 10% gain  
d. 10% loss   e. tpil njhpatpy;iy 
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43. The text of the preamble of Indian constitution resembles which of the 
following constitutions? 
a. Constitution of France  b. Constitution of USA 
c. Constitution of Germany  d. Constitution of Ireland 
e. Answer not known 
fPo;f;fz;l ve;j ehl;L murpayikg;Gld; ,e;jpa murpayikg;gpd; KfTiu 
ngUk; gFjp xj;Js;sJ? 
a. gpnuQ;R murikg;G         b. mnkhpf;f murikg;G 
c. n[h;kdp murikg;G    d. mah;yhe;J murikg;G 
e. tpil njhpatpy;iy 

 
44. Which country named the cyclone ‘Hamoon’? 

a. Iraq  b. Iran    c. Indonesia 
d. Qatar e. Answer not known 
‘`%d;’ vd;w GaYf;F ve;j ehL ngaupl;lJ? 
a. <uhf;  b. <uhd;    c. ,e;NjhNdrpah 
d. fj;jhh; e. tpil njhpatpy;iy 
 

45. Consider the following statements with reference to secularism,. 
1. Secularism is the principle of separation of state and religion 
2. George Jacob Holyoake coined the term secularism 
3. India’s original constitution included the term secularism in it 
Which of the above statements is/are correct? 
a. 1 and 2 only   b. 2 and 3 only   c. 1 and 3 only  
d. 1, 2 and 3  e. Answer not known 
kjr;rhh;gpd;ik gw;wpa gpd;tUk; $w;Wfisf; fhz;f 
1. kjr;rhh;gpd;ik vd;gJ muirAk; kjj;ijAk; gphpf;Fk; nfhs;ifahFk; 
2. [hh;[; N[f;fg; N`hypNahf; kjr;rhh;gpd;ik vd;w nrhy;iy cUthf;fpdhh; 
3. ,e;jpahtpd; %y murpayikg;gpy; kjr;rhh;gpd;ik vd;w nrhy; cs;slq;fp 
,Ue;jJ. 
gpd;tUk; $w;Wfspy; rhpahdJ vJ? 
a. 1> 2 kl;Lk;  b. 2>3 kl;Lk;  c. 1>3 kl;Lk; 
d. 1>2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

46. Match the following 
List I    List II 
A. K.M. Munshi  1. Keynote to Constitution 
B. Ernest Barker  2. Most precious Part 
C. Pandit Bhargava 3. Horoscope of our Sovereign, Democratic, 
      Republic 
D. Justice Hidayatullah  4. Resembles Declaration of Independence of 
      America 
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nghUj;Jf 
A. K.M.Kd;~p  1. murpayikg;gpd; rhuk; 
B. vh;d];l; ghh;f;fh; 2. kpfKf;fpakhdgFjp 
C. gz;bl; ghh;fth  3. ,iwahz;ik> [dehafk;> Fbahl;rp    

Mfpatw;wpd; MUlk; 
D. ePjpaurh; ,jaJy;yh 4. mnkhpf;f murpayikg;G rl;lj;jpd; 

Kfg;Giuia xj;Js;sJ 
A B C D 

a. 3 1 2 4 
b. 3 1 4 2 
c. 3 4 2 1 
d. 4 2 3 1 
e. tpil njhpatpy;iy 
 

47. With reference to preamble of the Indian constitution, consider the 
following statements: 
1. It contains summary or preface of the constitution. 
2. It clearly implies that the constitution derives authority from people of 

India. 
3. In Kesavananda Bharati case, 1973, supreme court proclaimed it as an 

part of constitution. 
4. It is justiciable in court of law. 
Which of the statements is/are not correct? 
a. 1 and 2 only  b. 2 only   c. 3 and 4 only 
d. 4 only   e. Answer not known 
,e;jpa murpayikg;gpd; KfTiu Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,J murpayikg;gpd; RUf;fk; my;yJ rhuhk;rj;ijf; nfhz;lJ. 
2. ,J ,e;jpa murpayikg;G jdJ mjpfhuj;ij kf;fsplkpUe;J 

ngWtijj; njspTgLj;JfpwJ. 
3. 1973 Nfrtde;j ghujp tof;fpy;> cr;rePjpkd;wk; ,ij murpayikg;gpd; 

gFjpahf mwptpj;jJ. 
4. ,J ePjpkd;wj;jpy; tof;fpl;L epiyehl;lf; $baJ. 
Nkw;$wpa $w;Wfspy; jtwhdJ/it vJ/vit? 
a. 1 kw;Wk; 2 kl;Lk; b. 2 kl;Lk;   c. 3 kw;Wk; 4 kl;Lk; 
d. 4 kl;Lk;   e. tpil njhpatpy;iy 
 

48. The touch-stone of perfection is ________ 
a. Accepting the failure of their peers 
b. Accepting failure from a victim who is not equal to them 
c. Receive a defeat even at the hands of one's inferiors 
d. Accepting failure in everyone  
e. answer not known 



 

17 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

rhy;Gf;F ciufy;Nghy; kjpf;fg;gLk; fUtp ahJ?  
a. jkf;F ,izahd xg;ghhplj;J Njhy;tpia Vw;Wf; nfhs;Sjy;  
b. jkf;F ,izahfhj typathplj;J Njhy;tpia Vw;Wf; nfhs;Sjy;  
c. jkf;F ,izahfhj nkypathplj;J Njhy;tpia Vw;Wf; nfhs;Sjy;  
d. vy;Nyhhplj;jpYk; Njhy;tpia Vw;Wf; nfhs;Sjy;  
e. tpil njhpatpy;iy 

 
49. If selling price is doubled, the profit triples. Find the profit percent.  

a. 66 2

3
% b. 100% c. 1

105
3

% d. 120% e. Answer not known 

tpw;gid tpiy ,ul;bg;ghdhy;> yhgk; %d;W klq;fhFk; vdpy; yhg rjtPjk; 
fhz;f.  

a. 66 2

3
% b. 100% c. 1

105
3

% d. 120% e. tpil njhpatpy;iy 

 
50. The cases relating to preamble are  

1. Berubari Union case, 1960. 
2. Shankari Prasad case, 1951. 
3. Keshavananda Bharathi case, 1973. 
4. LIC of India case, 1995. 
a. All are correct  b. 1, 2, 3 are correct  c. 2, 3, 4 are correct 
d. 1, 3, 4 are correct e. Answer not known 
Kfg;Giu njhlh;ghd tof;Ffs;. 
1. ngUghhp a+dpad; tof;F> 1960 2. rq;fhp gpurhj; tof;F> 1951 
3. Nfrtde;j ghujp tof;F> 1973 4. LIC M/g; ,e;jpah tof;F> 1995 
a. midj;Jk; rhp   b. 1> 2> 3 rhp   c. 2> 3> 4 rhp 
d. 1> 3> 4 rhp   e. tpil njhpatpy;iy  
 

51. Nobel Prize in physiology or medicine – 2023 awarded for 
a. Discovering Concerning necleoside base modifications that enabled the 

development of effective mRNA vaccines against COVID-19 
b. For discovering the complex process behind how human cells respond 

to change in levels of oxygen 
c. For discovering the Hepatitis C virus 
d. For discoveries concerning the genomes of extinct hominins and human 

evolution 
e. Answer not known 
2023d; kUj;Jtj;jpw;fhd Nehgy; gupR ________f;F toq;fg;gl;lJ 
a. Nfhtpl;-19 f;F vjpuhf gaDs;s mRNA jLg;G+rpfis cUthf;Ftjw;F 

cjTk; necleoside mbg;gil khw;wq;fisf; fz;lwpjy; 
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b. Mf;]p[dpd; msTfspy; Vw;gLk; khw;wj;jpw;F kdpj nry;fs; vt;thW 
gjpyspf;fpd;wd vd;gjw;Fg; gpd;dhy; cs;s rpf;fyhd nray;Kiwiaf; 
fz;lwpjy; 

c. n`gilb]; C itui]f; fz;Lgpbj;jy; 
d. mope;JNghd N`hkpdpd;fspd; kugZf;fs; kw;Wk; kdpj gupzhkk; gw;wpa 

fz;Lgpbg;Gfs; 
e. tpil njhpatpy;iy 

 
52. Match the followings 

(Amendment Acts) (Territories becoming part of Indian Constitution) 
A. 10th    1. Sikkim 
B. 12th    2. Goa, Daman, Diu 
C. 14th    3. Dadra and Nagar Haveli 
D. 35/36th   4. Pondicherry, Karaikal, Mahe, Yanam 
nghUj;Jf 
rl;lj;jpUj;jq;fs; ,e;jpa murpayikg;gpd; gFjpahf khwpa gpuNjrq;fs; 
A. 10tJ   1. rpf;fpk; 
B. 12tJ   2. Nfhth> lhkd;> ila+ 
C. 14tJ   3. jhj;uh kw;wk; ehfh; `Ntyp 
D. 35 / 36tJ  4. ghz;br;Nrhp> fhiuf;fhy;> khN`> ahdk;  

A B C D 
a. 1 2 3 4 
b. 3 2 4 1 
c. 3 2 1 4 
d. 3 1 2 4  
e. tpil njhpatpy;iy 
 

53. Which of the following article authorises parliaments to from a new state? 
a. Article 2   b. Article 3   c. Article 4   
d. Article 5    e. Answer not known 
gpd;tUk; tpjpfspy; vJ Gjpa khepyj;ij cUthf;f ghuhSkd;wj;jpw;F 
mjpfhuj;ij mspf;fpwJ? 
a. tpjp 2    b. tpjp 3    c. tpjp 4 
d. tpjp 5    e. tpil njhpatpy;iy   
 

54. Which among the following statement regarding the State is incorrect? 
I. The state has fixed Territory. 
II. The state has the Power to enforce laws 
III. The state is a social organisation. 
IV. The scope of the state is limited. 
a. I   b. II   c. III   d. IV  e. Answer not known 
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muR gw;wpa $w;wpy;> fPo;f;fz;l thf;fpaj;jpy; jtwhdJ vJ?  
I. muRf;F xU epiyahd epyg;gug;G cz;L  
II. murpw;F rl;lq;fis eilKiwg;gLj;Jk; mjpfhuk; cs;sJ 
III. muR vd;gJ xU r%f mikg;ghFk;  
IV. murpd; vy;iy tiuaWf;fg;gl;lJ  
a. I   b. II   c. III   d. IV   e. tpilnjhpatpy;iy 
 

55. The state reorganisation commission established in 1953 was headed by 
a. KM Panikkar  b. HN Kunzru   c. Vallabhai Patel 
d. Fazl Ali   e. Answer not known 
1953y; epWtg;gl;l khepy kWrPuikg;G Mizak; ahh; jiyikapy; 
mikf;fg;gl;lJ. 
a. KM gdpf;fh;  b. HN Fd;];U   c. ty;ygha; gNly; 
d. /gry; myp  e. tpil njhpatpy;iy 
 

56. By selling an article, a man makes a profit of 25% of its selling price. His 
profit percent is 
xU egh; xU nghUis tpw;f;Fk; nghOJ> mjd; tpw;gid tpiyapypUe;J 
25% yhgk; ngWfpwhh; vdpy; yhg rjtPjk; vd;d?  

a. 16 2

3
% b. 20% c. 25% d. 33 1

3
 %  e. tpil njhpatpy;iy 

 
57. Sukiranidhi, Manunool has been followed by Thirukural say some but this 

is refused and _________ says that Thirukural is the first book. 
a. Nakkiranar  b. Avaiyaar   c. Manakuvar   
d. Parimelazakar  e. Answer not known 
Rf;fpuePjp> kDE}y; Kjypatw;wpd; top E}y; jpUf;Fws; vd;ghhpd; $w;iw 
kWj;J jpUf;Fws; Kjy; E}Ny vd;wth; 
a. ef;fPudhh;   b. xsitahh;   c. kzf;Fth;   
d. ghpNkyofh;  e. tpil njhpatpy;iy 
 

58. Which language was not added in the Eighth schedule of the Constitution 
by the 92nd Amendment Act? 
a. Bodo    b. Dogri   c. Maithili  
d. Manipuri   e. Answer not known 
92-tJ jpUj;jr; rl;lj;jhy; murpayikg;gpd; vl;lhtJ ml;ltizapy; 
Nrh;f;fg;glhj nkhop vJ? 
a. NghNlh   b. nlhf;hp   c. ikjpyp 
d. kzpg;Ghp   e. tpil njhpatpy;iy 
   

59. Whose prior permission is needed to introduce a bill in the Parliament for 
the reorganization of States? 
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a. Chief Minister of the concerned State b. Governor of the concerned State 
c. President of India    d. Rajya Sabha 
e. Answer not known 
khepyq;fspd; kWrPuikg;Gf;fhd kNrhjhit ehlhSkd;wj;jpy; jhf;fy; nra;a 
ahUila Kd; mDkjp Njit? 
a. rk;ge;jg;gl;l khepy Kjy;tu;  b rk;ge;jg;gl;l khepy MSeu; 
c. ,e;jpa [dhjpgjp    d. uh[;argh 
e. tpil njupatpy;iy 
 

60. Which player won the Ballon d’or Feminin – 2023? 
a. Lucy Bronze   b. Sam Kerr c. Aitana Bonmati   
d. Caroline Graham Hasen e. Answer not known 
Ballon d'or Feminin - 2023 tpUij ntd;w tPuu; ahu;? 
a. Y}rp gpuhd;];   b. rhk; nfh;  c. mapl;lhdh nghd;kjp 
d. fNuhypd; fpu`hk; `hrd; e. tpil njhpatpy;iy 
 

61. The Department of Border management is a department of which one of the 
following union ministers? 
a. Ministry of External affairs   b. Ministry of Home affairs 
c. Ministry of Environment and Forests d. Ministry of Defence 
e. Answer not known 
vy;iy Nkyhz;ikj; JiwahdJ ,e;jpa kj;jpa mikr;ruitahy; ve;j 
mikr;rfj;jpd; fPo; tUfpwJ? 
a. ntspAwTj; Jiw mikr;rfk;     b. cs;Jiw mikr;rfk;  
c. Rw;Wr;#oy; kw;Wk; tdj;Jiw mikr;rfk;   
d. ghJfhg;Gj; Jiw mikr;rfk;    e. tpil njupatpy;iy 
 

62. Meghalaya state came into existence in the year 
a. 1968  b. 1970 c. 1972 d. 1973 e. Answer not known 
Nkfhyah jdp khepykhf cUthd Mz;L 
a. 1968   b. 1970 c. 1972  d. 1973 e. tpil njhpatpy;iy 
 

63. The states and territories of India are specified in 
a. Second schedule  b. First schedule  c. Eighth schedule 
d. Fourth schedule  e. Answer not known 
,e;jpahtpy; khepyq;fSk; kw;Wk; gpuNjrq;fSk; ve;j ml;ltizapy; 
$wg;gl;Ls;sd? 
a. ,uz;lhk; ml;ltiz b. Kjy; ml;ltiz  c. vl;lhk; ml;ltiz  
d. ehd;fhk; ml;ltiz e. tpil njhpatpy;iy 
 

64. When was Sikkim admitted to Indian Union? 
a. 1966  b. 1971 c. 1975 d. 1980 e. Answer not known 
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rpf;fpk; ,e;jpa A+dpadpy; vg;nghOJ Nrh;f;fg;gl;lJ?  
a. 1966  b. 1971 c. 1975 d. 1980 e. tpil njhpatpy;iy 

 

65. A shopkeeper purchased 200 bulbs for Rs. 10 each. However 5 bulbs were 
fused and had to be thrown a way. The remaining were sold at Rs. 12 each. 
Find the gain or loss% 
a. Loss 14.53%  b. Profit 15. 43%   c. Profit 17% 
d. Loss 18%   e. Answer not known 
xU filf;fhuh; xt;nthd;Wk; &.10 vd 200 gy;Gfis thq;fpdhh;. mtw;wpy; 
5 gy;Gfs; gOJ vd;W fz;lwpag;gl;L> J}f;fp vwpag;gl;lJ. kPjpia 
xt;nthd;Wk; &. 12f;F tpw;why;> mth; ngw;w yhg my;yJ e~;l 
rjtPjj;ijf; fhz;f 
a. e~;lk; 14.53%  b. ,yhgk; 15.43%  c. ,yhgk; 17%  
d. e~;lk; 18%  e. tpil njhpatpy;iy 

 

66. Choose the correct statement about GST Council 
1. It is a constitutional body under Article 279A (101 Constitutional  

Amendment Act, 2016) 
2. Union Finance Minister is the Chairperson 
3. Decision Making requires a 3/4th majority of members present and 

voting 
4. Centre’s share is 2/3rd of votes cast 
a. i, ii  b. i, ii, iv  c. i, ii, iii d. ii, iii, iv e. Answer not known 
GST FO gw;wpa rhpahd $w;Wfis Njh;f 
1. ,J rl;lf;$W 279A (101tJ rl;lj;jpUj;jr; rl;lk; 2016) ,d; fPo; tUk; 

murpayikg;G mikg;ghFk;. 
2. kj;jpa epjp mikr;rh; ,jd; jiytuhthh; 
3. KbntLg;gjw;F fye;J nfhz;lth;spy; 3/4 ngUk;ghd;ik 

cWg;gpdu;fspd; thf;Ffs; Njit 
4. ,jpy; kj;jpa murpd; gq;F 2/3 thf;Ffs; MFk; 
a. i, ii  b. i, ii, iv c. i, ii, iii d. ii, iii, iv  e. tpil njhpatpy;iy 

 

67. The articles that are related to citizenship are 
a. Article 5 to 11  b. Article 14 to 18  c. Article 19 to 22 
d. Article 25 to 28  e. Answer not known 
FbAhpikg; gw;wp njhlh;Gs;s rl;lg;gphpTfshtd 
a. rl;lg;gphpT 5-11  b. rl;lg;gphpT 14-18  c. rl;lg;gphpT 19-22 
d. rl;lg;gphpT 25-28  e. tpil njhpatpy;iy 
 

68. Which among the following Article deals with the rights of citizenships of 
certain persons of Indian origin residing outside of India? 
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a. Article 6   b. Article 7    c. Article 8 
d. Article 9   e. Answer not known 
gpd;tUk; ruj;Jfspy;  vJ ,e;jpahtpw;F ntspNa trpf;Fk; ,e;jpa 
tk;rhtspiar; Nru;e;j rpy egu;fspd; FbAupikapd; cupikfisf; 
ifahs;fpwJ? 
a. ruj;J 6    b. ruj;J 7    c. ruj;J  8 
d. ruj;J 9    e.. gjpy; njupatpy;iy 
 

69. Which of the following has the authority to prescribe conditions for the 
acquisition of citizenship of India? 
a. Parliament      b. President   
c. Parliament and State Legislatures  d. Election Commission 
e. Answer not known 
gpd;tUtdtw;wpy; ,e;jpahtpd; FbAupikiag; ngWtjw;fhd 
epge;jidfis gupe;Jiuf;Fk; mjpfhuk; vJ? 
a. ghuhSkd;wk;  
b. [dhjpgjp 
c. ghuhSkd;wk; kw;Wk; khepy rl;lkd;wq;fs; 
d. Nju;jy; Mizak; 
e. tpil  njupatpy;iy 
 

70. Match the following 
Nobel Prize Category Nobel Prize Winners in 2023 
A. Physics   1. Katalin Kariko, Drew Weissman 
B. Chemistry   2. Narges Mohammadi 
C. Medicine   3. Moungi G Bawendi, Louis E Brus, Aleksey  

Yekimov   
D. Peace   4. Pierre Agostini, Ferenc Krausz, Anne L’ Huillier 
nghUj;Jf 
Nehgy; ghpR gphpT 2023Mk; Mz;L Nehgy; ghpR ngw;wth;fs; 
A. ,aw;gpay;  1. fl;lypd; fhpf;Nfh> JU itRNkd; 
B. Ntjpay;  2. eUfPR Kfk;kjp 
C. kUj;Jtk;  3. nksq;fp ghntz;b> Y}ap]; G&];> mnyf;rp vfpNkht; 
D. mikjp  4. gpahp mNfh];bdp> /gpnud;f; f;uh];> md;dp L   

`{y;ypah; 
A B C D  

a. 1 4 3 2 
b. 4 3 1 2 
c. 3 4 2 1  
d. 2 4 1 3  
e. tpil njhpatpy;iy 
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71. Regarding Indian citizenship, consider the following statements: 

1. Constitution deals with Indian citizenship from articles 5 – 11 under part 
II. 

2. Indian constitution is federal, dual polity and provides for dual 
citizenship. 

3. In India both citizen by birth and naturalized citizen are eligible for the 
office of president. 

Which of the above statement are wrong? 
a. 1 only                 b. 2 only                  c. 1 and 3 only            
d.1,2 and 3          e. Answer not known     
,e;jpaf; FbAhpik Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,e;jpaf; FbAhpik gw;wp murpayikg;gpd; ,uz;lhtJ gFjpapy; 5 Kjy; 

11 tiuapyhd ruj;Jfs; Fwpg;gpLfpd;wd. 
2. ,e;jpa murpayikg;ghdJ> $l;lhl;rp mikg;G> ,ul;il murhq;fk; kw;Wk; 

,ul;ilf; FbAhpikiaf; nfhz;Ls;sJ. 
3. gpwg;ghNyh my;yJ ,ay;ghNyh FbAhpik ngWk; ve;jnthU FbkfDk; 

FbauRj; jiytuhf jFjp ngw;wth; Mthh;. 
Nkw;fz;l $w;Wfspy; jtwhdit vit? 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

72. Which of the following provisions of the Constitution came into force from 
November 26, 1949? 
I. Provisions relating to citizenship.   
II. Provisions relating to elections.  
III. Provisions relating to provisional Parliament.  
IV. Fundamental Rights 
a. I and II  b. I, III and IV   c. I, II and III 
d. None   e. Answer not known 
fPo;f;fz;l murpayikg;G rpwg;gpay;Gfspy; 1949 etk;gh; 26 Kjy; 
eilKiwf;F te;jJ vJ? 
I. FbAhpik njhlh;ghd $Wfs;      
II. Njh;jy; njhlh;ghd $Wfs; 
III. ehlhSkd;w eilKiw njhlh;ghd $Wfs;    
IV. mbg;gil chpikfs; 
a. I kw;Wk; II   b. I, III kw;Wk; IV  c. I, II kw;Wk; III  
d. ,it vJTkpy;iy e. tpil njhpatpy;iy 
 

73. Choose the States that were formed once the State Reorganisation Act was 
passed by the Parliament in 1956  
a. Andhra Pradesh, Punjab, Manipur, Tripura 
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b. Andhra Pradesh, West Bengal, Madhya Pradesh, Bihar 
c. Andhra Pradesh, Laccadive, Odisha, West Bengal 
d. Andhra Pradesh, Tripura, West Bengal, Madras  
e. Answer not known 
khepy kWrPuikg;Gr; rl;lk; 1956 ,d; gb fPo;fz;l khepyq;fspy; vit 
kWrPuikf;fg;gl;ld? 
a. Me;jpu gpuNjrk;> gQ;rhg;> kzpg;G+h;> jphpGuh 
b. Me;jpu gpuNjrk;> Nkw;F tq;fhsk;> kj;jpag; gpuNjrk;> gPfhh;  
c. Me;jpu gpuNjrk;> ,yl;rj;jPTfs;> xbrh> Nkw;F tq;fhsk;  
d. Me;jpu gpuNjrk;> jphpGuh> Nkw;F tq;fhsk;> kjuh];   
e. tpil njhpatpy;iy 

 

74. At first who translated a few parts of Tirukkural in English? 
a. Constantine Josep Beschi  b. Francis Whyte Ellis 
c. George Uglow Pope   d. Nathaniel Edward Kindersely 
e. Answer not known 
jpUf;Fwspd; rpy; gFjpfis Kjypy; Mq;fpyj;jpy; nkhop ngah;f;fj; 
Jzpe;jth; ahh;? 
a. fhd;];ld;ild; N[hrg; ng];fp b. gpuhd;rp]; xapl; vy;yp]; 
c. [hh;[; cf;Nyh Nghg;   d. Nejdpay; vl;th;l; fpz;lh;];yp 
e. tpil njhpatpy;iy 
 

75. If the price of orid dhall after 20% increase is Rs. 96 per kg, find the original 
price of orid dhall per kg. 
20% tpiy cah;tpw;Fg; gpd; xU fpNyh cSj;jk; gUg;gpd; tpiy ₹ 96 
vdpy; mjd; mry; tpiy vd;d? 
a. Rs. 100 b. Rs. 80 c. Rs. 60 d. Rs. 50  e. tpil njhpatpy;iy 

 

 

 


